Run 4520 triggerwise, sums: All
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Mean: 4319.4486 +/- 3.0538

Std Dev: 45395945 +/- 2.1594

. L T N NI R R
% 10000 20000 30000 40000 50000
sum
Run 4520 triggerwise, sums: Beam ON, Laser ON
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Mean: 5303.7320 +/- 6.9266

Std Dev: 5448.0196 +/- 4.8978

o

L
10

000

L
20

000

30

000

L
40

000

L
50000

Run 4520 triggerwise, sums: Beam OFF

1400

1200

1000

800

600

400

200

o

A b e s b by by s b b a

Entries: 4165

Mean: 985.3618 +/- 12.3148

Std Dev: 794.7592 +/- 8.7079
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Run 4520 triggerwise, sums: Beam ON, Laser OFF
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Entries: 441627

Mean: 2998.7210 +/- 3.4013

Std Dev: 2260.3325 +/- 2.4051
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